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30° 0.6293 0.7771 0.8098
40° 0.6428 0.7660 0.8391
41° 0.6561 0.7547 0.8693
42 0.6691 0.7431 0.9004




22,

2 AABC ©f|A]

r°“

F o] Zo|& 25% =0°]1 t}2 3t
A MZ2L 42 A’'BC & RFEIEIY 11 Hel+=

ze
AAA'D €} ACC'D ©] Wo] 9] 217} AABC 9] W] 9] % 019,
e @ % 59eA] Fatofet,

-




23. /B =60° /C=45°, BC =4 2l 479 ABC 9] ¥lo|& F3loizt.

SER
c



24. 9] 0] CH & 7517] S1sto] 4t oteh:e] 439 9Jef AB = 200m
hHRS =4 A B E du A9IGUY 08 195 2ot o
uf, 419] o] T o] Aol

C

@D 50v2m ® 100m ® 150m
@ 150V2m 3 200m



25.

the 129 A7+ ABC oA /B =
30°, /C = 45°, AB=8cm <Y 4, AC
o Zolg Fatolet.

Qe -




